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F5 | TREE | FEBRE | PEEL | REEH
1 X EE MENZ 2 B E 400. 0
2 X E R MENZ S ] 340. 0
3 X EE MENZ 2 & 340. 0
4 %! R ik 800. 0
5 ! WA E S Tt 340. 0
6 X R MENZ L M 7K JE 400. 0
7 XA WA E S I 7 %= 400. 0
8 X B R X E K 800. 0
9 X R MENZ 2 7kl 340. 0
10 %! R = B A 340. 0
11 X EE MENZ 2 =FE 340. 0
12 X MENZ S X I B 340. 0
13 %! MENZ 2 ME = 920. 0
14 %! R HEW 340. 0
15 ! MR E S % & Bt 400. 0
16 X MENZ L o Ea 340. 0
17 ! WA ZE S R 47 340. 0
18 X B4R R JE i 400. 0
19 X R MENZ 2 REER 340. 0
20 %! A Z 2 AR 340. 0
21 X EE MENZ 2 B 680. 0
22 X MENZ S % & IE 400. 0
23 X RE MENZ 2 TH#HE 680. 0
24 X MERZ L HEE 460. 0
25 ! WA E S B i pE 340. 0
26 X MR ZE 2 R 800. 0
27 ! WA ZE S FRiz 340. 0
28 X MERZ S Z 4 400. 0
29 X R MENZ 2 E¥E 340. 0
30 X EE R HEA S T H% 340. 0
31 X EE MENZ 2 x| TR 340. 0
32 X MENZ S P 340. 0




33 %! R 1% 7K 340. 0
34 X R MR E S % K 3K 340. 0
35 X MERZ S 7K AR 460. 0
36 ! WA ZE S e 340. 0
37 X MERZ S # A& 400. 0
38 X R MENZ 2 A I 3 340. 0
39 X MENZ S KA A 340. 0
40 %! MmN Z 2 ¥ E 400. 0
41 X MENZ S kBRI 340. 0
42 X R MENZ 2 %k 800. 0
43 X MERZ L R 340. 0
44 X WA E S 1 it 400. 0
45 %! R e 8 340. 0
46 %! WA E S % A 340. 0
47 X MERZ S A=A 800. 0
48 X EE MENZ 2 eSS 800. 0
49 %! R i 7 B 340. 0
50 X R MENZ 2 T EH 400. 0
51 %! R =% 680. 0
52 X EE MENZ 2 ¥ E 680. 0
53 X MERZ L 7K [ Ak 340. 0
54 X R WA E S KA 340. 0
55 X MENZ L BED 340. 0
56 X WA ZE S 2k 800. 0
57 X MERZ S = E 400. 0
58 X EE MENZ 2 &6 I 340. 0
59 %! A Z 2 Mk E 1020. 0
60 K EE TN ZES x| F A 1380. 0
61 k! TN ZES e 400. 0
62 X R TN Z2 B 4 800. 0
63 %! TR Z A - Rih 340. 0
64 X EE TR ZES T EHE 340. 0
65 %! TR ZA £ B A 340. 0
66 X EE TR ZES g4 340. 0
67 X E R TN Z S 7K R 3K 340. 0
68 X R TN Z 2 PR A 680. 0




69 X AR TN ZS & 7, 340. 0
70 X EE A Z 4 RS 680. 0
71 %! A Z 2 e 400. 0
72 X EE At Z 4 M 7 340. 0
73 X N Z 2 48 460. 0
74 X R A ZE S & 4 de 340. 0
75 %! A Z 2 T 680. 0
76 X R A ZE S R E 680. 0
77 X N Z 2 x| 2R 800. 0
78 X A ZE S ]EZ 680. 0
79 X N Z 2 ¥EXE 340. 0
80 X EE A Z 4 BAEE 340. 0
81 X N Z 2 g E 340. 0
82 X A Z 4 BT % 400. 0
83 %! A Z 2 =B F 340. 0
84 %! A ZE S EE& 400. 0
85 %! A Z 2 & B AL 340. 0
86 X R A ZE S g R = 800. 0
87 X R N Z 2 BEE & 400. 0
88 X A Z S bl 340. 0
89 %! HERZ 2 =K 340. 0
90 X R A Z S Gl 800. 0
91 X HENZEe =FH 7 340. 0
92 X R Z S BEAE 1200. 0
93 X B4R HERNZ 2 B 4 680. 0
94 X R B TS ek bl 800. 0
95 X HENZEe Bt 4L 680. 0
96 X EE A Z S T = 340. 0
97 X MR ZE A EHE 340. 0
98 X R A Z S A R 340. 0
99 X HENZE e o 3 4 680. 0
100 X EE B Z S R 400. 0
101 X R HENZe FEi= 800. 0
102 X EE R Z S M= 340. 0
103 X EE HENZE e 7 4 340. 0
104 %! B TS VR 400. 0




105 X AR A Z 4 Tk = 3% 340. 0
106 X EE AR Z S H 4k 340. 0
107 X R A Z 4 BILE 400. 0
108 X R Z S B B 400. 0
109 X E R B ZE 4 X B % 340. 0
110 X R B TS X CZE 340. 0
111 X E R HENZEe il 340. 0
112 X E4E XNENZ2 = E%® 400. 0
113 X E R XNENZE S x| 680. 0
114 X XNENZ2 X 5 AR 680. 0
115 X AR XNENZE S X F K 340. 0
116 X EE XNERZE S X\ 340. 0
117 X R XNENZE S X ¥ 340. 0
118 X EE XNENZE S WA E 340. 0
119 X EE XENZE S x| B 47 680. 0
120 X R XNENZ2 gt 680. 0
121 X R XNENZE S IE F+ 400. 0
122 X R XNENZ2 J1% %5 460. 0
123 X B X B A Z 2 B R E 400. 0
124 X XNENZ2 X EE 800. 0
125 X R XNENZE S At E 680. 0
126 X EE XNERZE S XN FE 400. 0
127 X R XNENZE S X F A& 800. 0
128 X EE XNENZE S x| g & 340. 0
129 X E R XENZE S X T & 340. 0
130 X R XNENZ2 X R 340. 0
131 ! XNENZE S X 7k & 340. 0
132 X R XNENZ2 X\ B2 400. 0
133 X E R XNENZE S VAR 340. 0
134 X R XNENZ2 X 340. 0
135 X AR XNENZE S ER = 400. 0
136 X EE XNERZE S ki 340. 0
137 X R XNENZE S X F & 800. 0
138 X EE XNENZE S = 7 1 1020. 0
139 X E R XNENZE S x| 2 340. 0
140 X R XNENZ2 K 800. 0




141 X AR XNENZE S X 1F % 340. 0
142 X XNERZE S X\ 4% 340. 0
143 X R XNENZE S X F R 680. 0
144 X EE XNENZE S X 340. 0
145 X E R XERZE S XA F 400. 0
146 X R XNENZ2 XFE 400. 0
147 X E R XENZE S 7% 340. 0
148 X R XNENZ2 X F 4 800. 0
149 X E R XNENZE S X % 800. 0
150 X XNENZ2 EHE 1020. 0
151 X AR XNENZE S Eki= 340. 0
152 X EE XNERZE S x| 4 400. 0
153 X R XNENZE S wEAL 400. 0
154 X EE XNENZE S B 400. 0
155 X E AR XENZE S E¥E 340. 0
156 X R XNENZ2 plEES 340. 0
157 X R XNENZE S X #f 5 680. 0
158 X R XNENZ2 X| X F 920. 0
159 X R XNENZE S x| & 18 680. 0
160 X XNENZ2 X XK 680. 0
161 X R XNENZE S i 5 3k 340. 0
162 X EE XNERZE S X IF 5 680. 0
163 X R XNENZE S X\ 1200. 0
164 X EE KEREZS hF LT 400. 0
165 X EE KENZES I R 800. 0
166 %! KERNEL kR K 340. 0
167 ! KERNZS RE G 920. 0
168 X EHE XKERZS F 340. 0
169 X E R KENZES E&%E 340. 0
170 %! KENEL A X 340. 0
171 ! KERZ 2 ZER 340. 0
172 X KEREZS W& & 340. 0
173 X R XERZL H A 340. 0
174 ! KERZ S X {5 F 400. 0
175 X E R KERNZES X Ak 3G 340. 0
176 X R KERNEZEL 2 X 680. 0




177 X ER KENZS e 400. 0
178 X EE KEREZS REFR 920. 0
179 ! KERZ 2 &AL 340. 0
180 X EE KERES B4 400. 0
181 X E R KENZES =X 340. 0
182 X R KERNEL BN 800. 0
183 X E R KERNZS £ T F 800. 0
184 X EE KERNEL A K & 340. 0
185 X E R KENZES B = 340. 0
186 ! KENEL K TF 680. 0
187 X AR XERZL I 2 E 340. 0
188 ! KEREZS 2 400. 0
189 X R KENZS Z =4l 340. 0
190 X KEREZS xR e 400. 0
191 X EE KENZES X 2 340. 0
192 X EE KEREL FEE X 400. 0
193 X R KENZS i 2 920. 0
194 %! KENEL PR X B 400. 0
195 X B KERZ2 R 400. 0
196 ! KENEL & [F 1200. 0
197 X R KERNZES 15 K 340. 0
198 X KEREZS i 400. 0
199 X R XERZL =Ry 340. 0
200 X EE KEREZS TN E 1360. 0
201 X E R KENZES & 340. 0
202 X EE KERNEL BTk 800. 0
203 ! KERNZS X = 400. 0
204 X EE KERNEL X £ ¥ 800. 0
205 X EE KENZES I A % 800. 0
206 X R KENEL X EH % 800. 0
207 X AR KENZS EHE 460. 0
208 X EE XKERZL X R 340. 0
209 X R KENZES X 3% 400. 0
210 X EE KERES 7 1E T 1700. 0
211 X EE KERNZES = KA 340. 0
212 X R KERNEZEL Bk H 800. 0




213 X EE XENZS T 2% 340. 0
214 X EE XERNZES ol 340. 0
215 X R XERNZS /N4 340. 0
216 X EE XERZES A 340. 0
217 X E R XERNZS = 680. 0
218 X R XENZ2 3 A 340. 0
219 X E R XENZ2 X E 340. 0
220 %! XENZ2 ZXE 340. 0
221 X E R XENZ S B K 340. 0
222 K EE XERZS L Ex 340.0
223 ! LERZE EER 400. 0
224 X EE XERNZES /N 340. 0
225 X R NENZS 7K % 18 800. 0
226 X EE XERNZES p&iIll 340. 0
227 X E AR XENZS k&L 340. 0
228 X R XENZ2 iz 340. 0
229 X R NENZS =N E 340. 0
230 X R XENZ2 = E 400. 0
231 X R XENZS x| B 4T 340. 0
232 X XENZ2 I K H 400. 0
233 X R NENZS XK 400. 0
234 X EE XERNZES Z 7K 340. 0
235 ! LERZE HEY 340. 0
236 X EE XERNZES 2 400. 0
237 k! LERZE =318 340. 0
238 X EE XENZ2 RE= 400. 0
239 ! NENZ2 % 1@ 680. 0
240 K EE XERZS iR 460. 0
241 k! LERZE2 ¥ xE 340. 0
242 X R XENZ2 L1 800. 0
243 X EE XERNZS Ak s 340. 0
244 X EE XERNZES x| 2 340. 0
245 X R XENZS x| 7k 3 340. 0
246 X EE XERZES A 340. 0
247 X EE YENZL & X 800. 0
248 X R XENZ2 XA 340. 0




249 X AR XENZS RN 340. 0
250 X EE XERNZES 7K F 680. 0
251 X EE XERNZS FE= 400. 0
252 X EE XERZES e 400. 0
253 k! LERZE R 340. 0
254 X R XENZ2 e 400. 0
255 X E R XENZ2 X TE 680. 0
256 X R XENZ2 SN 340. 0
257 X E R XENZ S I EN 400. 0
258 X XENZ2 ZK X 340. 0
259 X AR XENZS W% E 680. 0
260 X EE XERNZES X E 340. 0
261 X R NENZS Bk IE 400. 0
262 X EE XERNZES & A # 680. 0
263 X E AR XENZS 2 680. 0
264 X R XENZ2 7K 2 A 400. 0
265 X R NENZS HhHE 340. 0
266 X R XENZ2 wZ M 340. 0
267 X R XENZS EHY 340. 0
268 X XENZ2 R 680. 0
269 X R NENZS e 680. 0
270 X EE XERNZES 27 A 680. 0
271 ! LERZE 4K 400. 0
272 X EE XERNZES BAE 340. 0
273 k! LERZE FE¥ ik 400. 0
274 X R XENZ2 I i A 340. 0
275 ! NENZ2 B AKE 340. 0
276 X R XENZ2 ViR 340. 0
277 X E R XENZS I RH 680. 0
278 X R XENZ2 -3 340. 0
279 X AR XERNZS A 340. 0
280 X KENZE S &R 340. 0
281 X R KENZE S =& 340. 0
282 X KENE S ER 800. 0
283 X E R KENZE S # X 680. 0
284 X R KENE S =148 1Ly 680. 0




285 X ER KENZE S R EE 1200. 0
286 X EE KENE S AR 340. 0
287 X EE KENZE S HAER 800. 0
288 X EE KENE S K= 340. 0
289 X ER XERNZ S I s 800. 0
290 X R KENE S T k% 680. 0
291 X EE XENZ S A I 680. 0
292 %! KENE S B S 460. 0
293 X EE XERNZ S ¥ ik & 400. 0
294 ! KENE S AEAE 340. 0
295 X ER KENZE S K 4 & 1200. 0
296 X EE KENZE S EX 400. 0
297 X EE KENZE S wEE 340. 0
298 X EE KENE S R ZE AL 680. 0
299 X EE KENZE S MmEE 400. 0
300 X R KENE L DR 400. 0
301 X EE KENZE S & K 400. 0
302 %! KENE L FEEZ 340. 0
303 X EE KENZE S RIS 800. 0
304 ! KENE S 1% K 5% 800. 0
305 X ER KENZE S EFE 920. 0
306 X KENE S 7k IR, 680. 0
307 X ER KENZE S &= 800. 0
308 X KENE S EF7 680. 0
309 X EE KENZE S 7K 2 B 400. 0
310 X R KB E L R XK 680. 0
311 X EE XENZ S & X 680. 0
312 %! KENE L = 400. 0
313 X EE KENZE S W E 340. 0
314 X R KENE S I 400. 0
315 ! KB Z 2 7K IR 680. 0
316 X KENZE S W 7 1 400. 0
317 ! KERZ 2 7K IR 400. 0
318 X EE KENE S & X H 340. 0
319 X EE KENZE S 1 £ 400. 0
320 X EE KENE S EREZn 680. 0




321 X AR KENZE S 1 [ A 680. 0
322 X KENE S &= RE 340. 0
323 X R KENZE S ERL 400. 0
324 X EE KENE S X = 340. 0
325 k! KR Z 2 7K Kk & 680. 0
326 %! KB E L 4 BH 400. 0
327 X E R KENZE S x| R A 340. 0
328 %! KENE S 7K 4R & 800. 0
329 X E R KENZE S KE R 800. 0
330 ! KENE S B 340. 0
331 ! KB Z 2 & 7 680. 0
332 X KENZE S H 5K 340. 0
333 X R KENZE S e 680. 0
334 X EE KENE S ZKE 400. 0
335 X E AR KENZE S FigE 800. 0
336 %! KENE L ek 400. 0
337 X R XERNZ S &5 400. 0
338 %! KENE L o H 7 920. 0
339 X R KENZES I g 460. 0
340 X EE KENZEE 1 &L 340. 0
341 ! KEHRZ 2 2HEX 340. 0
342 X EE KENES FEHEF 400. 0
343 X R KENZES Z= R 3k 400. 0
344 X KENES IRES 340. 0
345 X E R KENZES BEY 340. 0
346 X R KENES FEH T 340. 0
347 ! KENZES B 680. 0
348 X R KENES 7K 1 £k 800. 0
349 X E R KENZES T =¥ 340. 0
350 X R KENES BT 800. 0
351 X ER XERZE ML T 680. 0
352 X EE KENES A 680. 0
353 X R KENZES A % 340. 0
354 X KENES &R 340. 0
355 X E R KENZES TEHA 340. 0
356 X EE KERZEE B e 680. 0




357 X ER XERZE KR 800. 0
358 X EE KENES EAR 400. 0
359 X R KENZES BEH 400. 0
360 X KENES 7% 15 460. 0
361 X E R KENZES VESED 340. 0
362 X R KENES e 340. 0
363 X E R KENZES #IER 340. 0
364 X EE KENES BT = 800. 0
365 X E R KENZES BT 400. 0
366 X KENES FEEX 400. 0
367 X AR KENZES X E = 920. 0
368 X EE KENES Z % R 920. 0
369 X R KENZES EAxE 340. 0
370 X KENES il 340. 0
371 X B KERZE KEA 340. 0
372 X EE KENES IR 400. 0
373 X R KENZES ZE T 340. 0
374 X EE KENES i 340. 0
375 X R KENZES Bk IF i 340. 0
376 X W E L 2EAE 340. 0
377 X R DN Z L EREE 460. 0
378 X EE W E S Y= 800. 0
379 X R DN Z L = 340. 0
380 X EE W E S =2 # 340. 0
381 X E R DN Z L L& 800. 0
382 X R W TS 71 T4 340. 0
383 ! DN Z S AER 800. 0
384 X R W TS =AW 340. 0
385 X EE VN Z S TEE 340. 0
386 X R W E S Bk 340. 0
387 X AR DN Z L X\ % 77 400. 0
388 X EE W E S A& % 800. 0
389 X R DN Z L KFE 340. 0
390 X EE W E S = FF 340. 0
391 X E R DN Z L KEEH 340. 0
392 X R WA TS =B A 800. 0




393 X AR DN Z L £ KA 400. 0
394 X EE W E S X\ 1020. 0
395 X R DN Z L K EiE 340. 0
396 X EE W E S 0 E Ak 400. 0
397 X EE DN Z L FEZ 340. 0
398 X R WA TS - aiis 400. 0
399 X E R DN Z S =l 1020. 0
400 X R W TS % 4 340. 0
401 X E R DN Z S KB 340. 0
402 K EE WM ES &R 400. 0
403 X AR DN Z L x| 340. 0
404 %! W E S 7k & 3 340. 0
405 X EE DN Z L T 340. 0
406 X W E S S 460. 0
407 X E AR DN Z L XE K 400. 0
408 X R W TS = XK 680. 0
409 X R DN Z S 2R AL 340. 0
410 X R W TS 177 K A 460. 0
411 X R R Z Xk 400. 0
412 X EE U R 7K Ktk 800. 0
413 X R DN Z L EH N 680. 0
414 X EE W E S 7K I R 400. 0
415 X R DN Z L &= R E 460. 0
416 X EE W E S 2EL 340. 0
417 X E R DN Z L 7K 3% R 800. 0
418 X R W TS i 4 1 340. 0
419 ! DN Z S g 400. 0
420 X R W TS = KK 400. 0
421 X E R VN Z S F=lN 680. 0
422 X R W E S ERE 1200. 0
423 X AR DN Z L MEE 340. 0
424 X EE W E S BT 340. 0
425 X R DN Z L =R 340. 0
426 X EE W E S A £ 340. 0
427 X E R DN Z L H A 1% 680. 0
428 X R WA TS REE 340. 0




429 X AR WA ZE S JE Bt 340. 0
430 X EE W E S ZES 340. 0
431 X R BERZS [ X FE 340. 0
432 X BERZS % 1l 800. 0
433 X E R RERNZ2 =R 5 340. 0
434 X R BRENZ2 PRl 680. 0
435 X BRENZ2 Z A0 1g 460. 0
436 X R BRENZ2 KE = 340. 0
437 X E R BRENZ2 7 B 1020. 0
438 X BRENZ2 ZARAX 400. 0
439 X EE BRERNZ2 B IE K 340. 0
440 X BRERNZ 2 7K 400. 0
441 X EE BERZS F b 400. 0
442 X RERNZ2 7Ktk 1600. 0
443 X E AR BRERNZ2 B 340. 0
444 X R BRENZ2 E & 680. 0
445 X R BERZS R T AR 400. 0
446 X R BRENZ2 Y & 460. 0
447 X R BRERZS K 340. 0
448 X RENZ2 =KX= 340. 0
449 X EE BRERNZ2 xRE 340. 0
450 X EE BRENZ2 e % 340. 0
451 X R BERZS EEE 340. 0
452 X BERZS AR 340. 0
453 X E R RERNZ2 il 340. 0
454 X EE BRENZ2 K F 340. 0
455 ! BERZS 7Kk 340. 0
456 X R BRENZ2 ik /N 400. 0
457 X E R BRERZS PR 680. 0
458 X R RENZ2 Z= 340. 0
459 ! BERZ 2 28T 340. 0
460 X EE BRERNZ2 BE 340. 0
461 X R BERZS W F 340. 0
462 X BERZS AL 340. 0
463 X E R BRERNZ 2 Z AW 680. 0
464 X R BRENZ2 Ak 400. 0




465 ! BERZ 2 % 18 680. 0
466 X EE BRERNZ2 TR IFEHE 340. 0
467 X R BRERNZ2 ZFX 340. 0
468 X BRERNZ2 7k Z 45 800. 0
469 X E R RERNZ2 I & 340. 0
470 X R BRENZ2 hREZE 460. 0
471 X EE BRERZS T 800. 0
472 X R BRENZ2 BER 680. 0
473 X E R BERZ 2 BEEZ 340. 0
474 X BRENZ2 =HE 340. 0
475 ! BERZS s 340. 0
476 X EE BRERNZ 2 Z Al 680. 0
AT7 X R BERZS T 340. 0
478 X BERZS X4 = 340. 0
479 X E AR BRERNZ2 = W2 400. 0
480 X R BRENZ2 =¥ 400. 0
481 X R BERZS 1352 340. 0
482 X R BRENZ2 wIEH 800. 0
483 X EE BRERZS R 340. 0
484 X RENZ2 i # 400. 0
485 X R BERZS AFL 800. 0
486 X EE BRENZ2 B¢ 680. 0
487 X R BERZS R 340. 0
488 X RERZ2 P Viia 340. 0
489 X E R RERNZ2 KE R 340. 0
490 %! =R &= R % 340. 0
491 ! =R R 4 340. 0
492 X EE =R FAKE 400. 0
493 X E R =R K18 400. 0
494 X EE =R Bk = 340. 0
495 ! rERZE R 2 2k 340. 0
496 X RSERZ4E FEX 800. 0
497 X R =R EESl 800. 0
498 X =R 7K K K 800. 0
499 X E R =R R 3k 340. 0
500 %! =R Z R 340. 0




501 X AR =R 17 R 2T 340. 0
502 X renZEs N 340. 0
503 X R REeRZ4L JA = 340. 0
504 X EE RSERZ4L A 3% 400. 0
505 k! rERZE )2 400. 0
506 X R RERZEL FE# 340. 0
507 X E R =R I 7 A& 800. 0
508 %! rERZEL 5N 400. 0
509 X E R ReRZ4 KEL 460. 0
510 X EE =R 7 X 340. 0
511 ! rERZE B 800. 0
512 X RSERZ4E TE= 340. 0
513 X R =N AR 340. 0
514 X EE RSERZ4L B T 680. 0
515 X E AR =R A A 680. 0
516 X R RERZEL RIT & 340. 0
517 X R = A& 340. 0
518 %! =R HEHE 460. 0
519 X R RreRZ4 HIE 400. 0
520 %! RrERZEL A E AL 800. 0
521 X R =R g ZIL 680. 0
522 X renZEs KE# 400. 0
523 X R REeRZ4L KA 340. 0
524 X EE =R R 340. 0
525 X E R = K 3R 340. 0
526 X R RERZEL e 340. 0
527 ! = 1% R AL 340. 0
028 K EE SERZS T FH 340.0
529 X EE = X A= 340. 0
530 X R RERZEL e 460. 0
531 X AR =R R 680. 0
532 X RSERZ4E Vil 340. 0
533 X R REeRZ4L RITE 460. 0
534 X EE RSERZ4L ¥ B 11 680. 0
535 X EE = FHEE 340. 0
536 X R RERZEL g E 680. 0




537 XA rERZE il 340. 0
538 X renZEs HEXE 340. 0
539 X EE REeRZ4L =2 340. 0
540 X EE =R Z h Ak 400. 0
541 ! = B IE4 400. 0
542 X R RERZEL 1% R AL 1380. 0
543 ! = ThH= 460. 0
544 %! =EeRZE4L Bt E 400. 0
545 X B =N B 680. 0
546 ! =ERZE4L ¥ FER 800. 0
547 X ER =anNZEs TP A 400. 0
548 X =anZEs J 14 800. 0
549 X EE =anNZEs e 400. 0
550 X EE =EeRNZ4E XK 800. 0
551 X EE =anNZEs {7 4§ 400. 0
552 %! =N A& & 340. 0
553 X EE =anZEs 4 F % 340. 0
554 X EE =N T 45 340. 0
555 X EE = s 17 R JE 340. 0
556 ! =R & A 340. 0
557 X ER =anNZEs Ik ik 1360. 0
558 %! =anZEs oER 340. 0
559 X ER =anNZEs x| % 340. 0
560 X AR =anZEs B k3K 340. 0
561 X EE =anNZEs EEa 340. 0
562 %! =N ¥ PE % 340. 0
563 X EE =anNZEs AR 400. 0
564 %! =N 17 FAX 340. 0
565 X EE =anNZEs W& 400. 0
566 %! =R FhAF 340. 0
567 ! =EeRZ4 JB ¥ 340. 0
568 X =anZEs B 340. 0
569 X EE =anNZEs Wh= 680. 0
570 X EE =anZEs 7 R A 340. 0
571 X EE =anNZEs IFH 400. 0
572 %! =N 2367 340. 0




573 X ER =anNZEs = R 340. 0
574 X =anZEs IR I A 340. 0
575 X R =EeNZ4L FaE 340. 0
576 X EE =anZEs I T 460. 0
577 X EE =anNZEs ¥ % 340. 0
578 X EE =N WA 680. 0
579 X E R =EeNZ4s T A% 400. 0
080 K EE =EeZES ¥ B A 340. 0
581 X E R =anNZEs B 800. 0
582 ! =ERZE4L ¥6 F A 340. 0
583 X AR =anNZEs T R& 340. 0
584 X =anZEs i E 340. 0
585 X EE =EeNZ4L FEH 400. 0
586 X EE =EeRNZ4E o ¥E 340. 0
587 X E AR =EeNZ4E TEFH 400. 0
588 %! =N fER 400. 0
589 X R =EeNZ4s ¥4 F Fu 400. 0
590 ! =ERZE4L wFE 340. 0
591 X R =anNZEs FOFEE 340. 0
592 ! =R =EHE 400. 0
593 X R =anNZEs k& 340. 0
594 X =anZEs INFE 800. 0
595 X R =anNZEs x| #% 400. 0
596 X EE =anZEs 7k & % 800. 0
597 k! =EeRZ4 KR E 800. 0
598 %! =N N7 E 340. 0
599 ! =anNZEs =R 400. 0
600 %! =ERZE4L TE% 680. 0
601 X E R FHAN Z 2 B 340. 0
602 X R FEVA A Z 2 PR R 680. 0
603 X AR FHVAA & & KAEFH 340. 0
604 X EE FEVA AT Z 4 A8 % 2 340. 0
605 X R FEVAA & & # L5 340. 0
606 X EE FEVA AT & 4 =I5 % 340. 0
607 X E R FHVAA & & XA 340. 0
608 X R FEVA AT &4 KA E 400. 0




609 X AR FHVAA & & B ST 1 1200. 0
610 X EE FEVA AT Z 4 7E X AE 340. 0
611 ! FEVEAR Z 2 oA 340. 0
612 X EE FEVA AT & 4 FIRFE 340. 0
613 X E R FHVAA & & g B % 340. 0
614 X R FEVA AT &4 X R 400. 0
615 X E R FHA Z 2 % Z R 800. 0
616 %! FEVA A Z 2 Z IR e 400. 0
617 X E R FEVAA & & EIEd 340. 0
618 X FEVA AT &4 .2 1020. 0
619 X AR FHVAA & & o 3 o7 400. 0
620 X EE FEVA AT Z 4 Z 1F % 340. 0
621 X R FHVAA & & g E 340. 0
622 X EE FEHVA AT Z 4 B BRI 680. 0
623 X B FEVEAR Z 2 REHE 400. 0
624 X R FE VA AT &4 4% 8 400. 0
625 X R FEVAA & & IWEH 340. 0
626 X R FEVA AT &4 PN 800. 0
627 X R FHAN Z 2 FFF 680. 0
628 X FEVA AT &4 B ¥ 680. 0
629 X R FHVAA & & AR % B 400. 0
630 %! FEVA A &4 2 800. 0
631 X R FHAR Z 2 RS 800. 0
632 X EE FEVA A &4 B R 920. 0
633 X E R FHVAA & & 4 340. 0
634 %! FEVA AT &4 =hH 340. 0
635 ! FHAR Z 2 A& 340. 0
636 X R FEVA AT &4 B = E 680. 0
637 k! FEeRZ2 % 1 it 400. 0
638 %! FERZS 7K fF 340. 0
639 X AR FeERZE2 I 400. 0
640 X FERZS 17 7 A 340. 0
641 X R FERZS 7k & 1020. 0
642 X EE FEHRZS 7k 2t A 340. 0
643 X E R FERZS KR 800. 0
644 %! FERZ2 x| B 340. 0




645 X AR FERZS = B A 340. 0
646 X FERZS 7K 4R IX. 340. 0
647 XA FERZS ¥R 340. 0
648 X FEHRZS # B 800. 0
649 X E R FERZS ITER 340. 0
650 X EE FERZS e 340. 0
651 X E R FERZS K i 3 460. 0
652 K EE FERZS AR 2000. 0
653 X E R FERZS JE IE WL 800. 0
654 X EE FERZS h I 460. 0
655 X AR FERZS JE k4R 340. 0
656 X FERZS A T 800. 0
657 X EE FERZE2 B 680. 0
658 X FERZS F 340. 0
659 X E AR FERZS X\ TC 460. 0
660 X EE FERZS R E 400. 0
661 X R FERZS GBI 400. 0
662 X EE FERES it 460. 0
663 X R FERZS 7K A 340. 0
664 X EE FERZS kA 400. 0
665 X R FERZS iy 340. 0
666 X FERZS k2 340. 0
667 X R FERZS ¥ 38 400. 0
668 X EE KERZS HF 57 400. 0
669 X E R KENZE S 7 1 B 400. 0
670 X R rENZE2 ik 27 800. 0
671 ! KENZE S KEHE 460. 0
672 X R rENZ2 DR 1200. 0
673 X E R KENZES FiHAE 340. 0
674 X R K AN EL 7k £ & 400. 0
675 X AR KENZEL F AR 800. 0
676 X EE kAN E S Z 4 340. 0
677 X R KENZE S ViR 400. 0
678 X EE kAN E S B K% 340. 0
679 X E R KENZE S ik 340. 0
680 X R KENZE2 7 400. 0




681 ! K ERZE S 5% 460. 0
682 X EE kAN E S I Bk 920. 0
683 X R KENZE S TR 340. 0
684 X EE kAN E S I pR A 2000. 0
685 X E R KENZE S =¥ 340. 0
686 X R KENZE2 0 X% 340. 0
687 X E R KENZE S oHE 340. 0
688 K EE EENES L& 340. 0
689 X RN ZE 2 R 340. 0
690 X R BEAZE L £ 340. 0
691 X ER WEAN ZE 2 KAEE 400. 0
692 X EE AR ZE 2 RER 680. 0
693 X EE AR ZE 2 K E 400. 0
694 K EE BMENZE 2 T FE 400. 0
695 ! BENZ S F AN 460. 0
696 X R BEMZE L E 3 400. 0
697 X EE BENZ S P HE 340. 0
698 %! AR ZE L W B 400. 0
699 X EE RN ZE 2 i 680. 0
700 %! BEAZE L 7k ¥ 2000. 0
701 X ER BENZ S THE 340. 0
702 %! AR ZE 2 oER 400. 0
703 X ER WEAN ZE 2 ERi=rd 340. 0
704 X EE WA Z S &= R 400. 0
705 k! WA Z 2 N iia 340. 0
706 %! RN L A 340. 0
707 X BEN ZE S b 340. 0
708 %! WEAZE L ¥ F 5 680. 0
709 X RN ZE 2 T 400. 0
710 %! BEMNZE L T HE 340. 0
711 ! i Z& 2 B 400. 0
712 X EE N ES 7K 1700. 0
713 X EE FERNETL Z IR 340. 0
714 X EE iR ZE2 = [F 7 340. 0
715 ! HiEE L T %48 680. 0
716 %! ¥R ZE2 Tk 340. 0




717 X EE FENETL = 1020. 0
718 X EE N ES = iAE 680. 0
719 X EE FENEZL B 800. 0
720 ! FEREL T 340. 0
721 X i ZE 2 =B 400. 0
722 X R ¥R ZE2 o F & 340. 0
723 X EE FENETL BEE 1020. 0
724 X R ¥R ZE2 JE 7 44 400. 0
725 X E R i ZE 2 W E % 400. 0
726 X EE YN ZE2 1 & Ao 340. 0
727 X AR i Z& o EEi=22 340. 0
728 X EE iR ES ZEY 340. 0
729 X EE FENEZL % 400. 0
730 X EE N ZES S R 340. 0
731 X EE FENEZL £ R 400. 0
732 X R ¥R ZE2 &b 680. 0
733 X R i ZE 2 AR 800. 0
734 X R ¥iENZE2 7K 7 W 340. 0
735 X R i ZE 2 =T & 340. 0
736 X ¥iENZE2 0k & 340. 0
737 X EE FENEL A E 400. 0
738 X iR ES R 340. 0
739 X EE FENEZL H 5 X 340. 0
740 X EE N ZE2 | IEF 340. 0
741 X E R i ZE 2 = 340. 0
742 X R FiENZE2 Wt 340. 0
743 X EE FENEZL KTE 340. 0
744 K EE FEREL FH= 340.0
745 X EE FERZEE = 400. 0
746 X R ¥iENZE2 e 340. 0
747 X AR i Z& 2 E/NE 1360. 0
748 X EE N ES T A 400. 0
749 X EE FERNETL F > B 340. 0
750 X EE Y W 340. 0
751 X E R NEHRZE S iR E 400. 0
752 X R WA Z 2 F &L 400. 0




753 X EE NEHE S T Z4E 400. 0
754 X EE NAENZ 2 Ik E 340. 0
755 X R NEHRZES I 460. 0
756 X EE Y A 400. 0
757 X E R NENZE S FhE 340. 0
758 X R WA Z 2 A & 340. 0
759 X E R WERZE 2 TRE 800. 0
760 K EE WiEmZ&E 42 =N:ES 460. 0
761 X E R NEHRZE S 2% 8 400. 0
762 X NANZ 2 =X 800. 0
763 X AR NEHZE S % JE 800. 0
764 X EE WL E S B 4] 340. 0
765 X R NEHRZE S =N 340. 0
766 X EE Y b 340. 0
767 X EE NEHRZE S AT = 340. 0
768 X R WA Z 2 K F 400. 0
769 X EE NEMNE S T 4% 400. 0
770 K EE WiEZ&E 42 ENRNE 460. 0
771 X R KIANE S BRI 340. 0
772 X KA E L 4 A 460. 0
773 X R AKFANZE S EEE 1020. 0
774 X KA E S HE 1020. 0
775 X R XFRZ S R4 3 400. 0
776 X KA E S 045 2 680. 0
777 X E R AR Z S BT 400. 0
778 X R KA E L o718 920. 0
779 ! KIAE S L B R 400. 0
780 X EE KA E L TE 340. 0
781 X E R XFRZ S EE2 1020. 0
782 X EE KA E L % 18 F 340. 0
783 X AR AKIANZE S o E= 340. 0
784 X EE KA E S Lr S 1020. 0
785 X R XFARZ S B 400. 0
786 X KA E S K FF 920. 0
787 X E R XFRZ S EE:d 680. 0
788 X R KA E L )% 340. 0




789 X AR AKIANZE S B E A 340. 0
790 X EE KA E S FER 340. 0
791 X R XFARZ S 72X 400. 0
792 X KA E S FEE 340. 0
793 X E R XFRZ S ZE 340. 0
794 K EE KFAHES A 340. 0
795 X E R XFHRZ S E= 800. 0
796 X R KA E L EDiE: 340. 0
797 X E R XFRZ S 0 9k 400. 0
798 ! KA E L 0¥ 680. 0
799 X AR AKFANZE S o 340. 0
800 X EE KA E S e 340. 0
801 X R KFANZE S iV 340. 0
802 XEE | REINHZS R & R 340. 0
803 XERE | REINHZS 2 E 400. 0
804 XEHRE | REINHZS bl i 340. 0
805 XEE | REINHZS R 680. 0
806 XEHRE | REINAZS 288 340. 0
807 XERE | REINHZS ET R 340. 0
808 XEHRE | REINAZS X % 7 400. 0
809 XEE | REINHZS 4 AR 400. 0
810 XERE | REINHZS 7k & ¥ 340. 0
811 KEE | AR ANZS = Pt 340. 0
812 XERE | RERANZS X F 58 800. 0
813 XER | RRXANZES ERTE 340. 0
814 XEE | RRARZES EFHEE 340. 0
815 XEE | RXANZES X X HT 340. 0
816 KEE | ARARZS ETF 340. 0
817 XERE | RERANZS o AEE 400. 0
818 KEE | ARARZS R 340. 0
819 XERE | REANZ S FEE 400. 0
820 XEE | RRARZEZSL e = 340. 0
821 KEE | AR ANZS x| % Z# 340. 0
822 XERE | RERANZE XA 800. 0
823 XEE | RRXANZEZS BREFI 340. 0
824 KEE | ARARZS R 1380. 0




825 KEE | RRANZS 2 E* 340. 0
826 KEE | ARARZS ERFH 920. 0
827 XEE | RRXANZES X F 340. 0
828 XERE | RERANZ S 7k 7 1% 340. 0
829 XER | RRXANZES T 460. 0
830 %! KENE L (iR O] 340. 0
831 X E R XKERZS e 340. 0
832 %! KR ZE L X E B 340. 0
833 X B KA Z 2 HEE 680. 0
834 X R KR ZE L L 340. 0
835 X EE KENZE S g 340. 0
836 X KENZE S X & 400. 0
837 X R KENZE S PR A & 340. 0
838 X KENZE S X 680. 0
839 X E AR KENZE S oL EZ 340. 0
840 X R KR ZE L RN 1360. 0
841 X R KENZE S R E 340. 0
842 ! A X R E 680. 0
843 X R FHAN L2 T 3 400. 0
844 X A TS =RA 340. 0
845 X R AN L2 T E 4k 340. 0
846 %! AL Bk 400. 0
847 X R AN L2 x| 2 X 340. 0
848 X EE AL Ik 400. 0
849 X E R AN L2 =% 340. 0
850 X R A TS wmAY 340. 0
851 ! FHAN L2 wmE= 340. 0
852 %! A & 2 B 400. 0




